Algebra 2/Trig Homework A.2.7: Binomials With Radicals

HW A.2.7: 1-29 EOOQ, 31, 37, 41, 43

Simplify each expression.

1. 3+ VD3 -V 2. 5+ V2)5 -V2) 3. (V7 +1)?
4. (V5 +2)? 5. (1+V2)3+ V2 6. (6 —V3)4+ V3
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4-V3 ; 6+ V3 9. (V1-V2)
10. 3V11 — V10)? 11. 3 +4V3)2 - V3) 12. 5 —V2)3 -2V2)
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13, ———— 14, ——~

V5 + V2 2V3 - V7
15. (V11 = VDOV + V7) 16. (V13 — V) (V13 + V73)
17. 5 + V3)8 — 2V3) 18. (3 + 2V6)(4 — 5V6)
19, Y15 20, — YO

V3 + V3 V24 V3
21. V5 + V7)? 22. 3V2 + V6)?
23. 2V3 + V5)(2V3 — V5) 24. 3V7 - 2V5(3VT + 2V5)
25. (V6 — V15)° 26. 2V5 — V10)?
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29. (5V6 + 3V2)2V6 — 4V3) 30. 3V5 + 2V15)4V3 - 3V15)
31, Y5+ 32, V71— V3

V5 -3 V7 + V3

37. a. What is the conjugate of 2V5 — 3V2?
b. What is the reciprocal of the conjugate of 2V5 — 3V2?
c. What is the conjugate of the reciprocal of 2V5 — 3V2?
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38. Show that the reciprocal of 5

is also the conjugate of

Use the Pythagorean theorem to find x.
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4 +\2 ) 6+ 2V.

Simplify. Assume that each radical represents a real number.

41. Va+1+V(Vn+1-Vn 42. b+ Vb — (b — Vb)>
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